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LIFE SCIENCES

Category-1 (Q 1 fo an
Only one option is correct. Negative marks
ganisms 7

s =14)

(Carry 1| mark each.
Filariasis or Elephantiasis ¢ caused by which one of the following or
(A) Taenia solium (B) Fasciola hepatica
()  Wuchereria bancrofl i (D) Hirudinarid granulosd
Gryfefe ram e o wrErEfante 4 aferarfouf R 28 7
(A} Tuenia solium (B)Y Fasciola hepatica
(C) Wuchereria bancroffi (DY Hirudinaria gruuuhmu
Which one of the following is the complementary basc of guanine in DNA 7 |
(A) Adenine (B) Thymine (C) Cytosine (D) Uracil

Gryfefieefem r@H0 DNA-G3 T4 eufare ofts@Es we
(A) SIS (B) <BRH () FEDRE (D) ESu#

At which phase of meiosis are homologous chromosomes separated 7

(A) Prophase | (B) Prophase Il (C) Anaphase (L)
R (W A TR TG e E S T

(A) ToCwerl (B) TCwet I (C) ST=ICwet | (D) wCEE 1l

example of tropic hormone {

Which one of the following 1S an

(A) ACTH (B) Gastrin (C) Secretin (D) CCK-PL
M2 i G TN Brgad ?

(A) ACTH (B) PGS () PfEwhs (D) CCK-PZ

The book ‘Systema Naturae’ was written by
(A) Charles Darwin (B) Carolus Linnacus

(C) Robert Harding Whittaker (D) Jean Baptiste Lamarck
‘Systema Naturae’ AT 4804 26U TEA

(A) Charles Darwin (B) Carolus Linnacus

(C) Robert Harding Whittaker (D) Jean Baptiste Lamarck

Which plant does exhibit hydrophily ?
(A) Hydrilla sp. (B) Pinus sp. (C) Oryza sp. (D) Nelumbo sp.

ram s wang e amPfe 2 ?
(A) Hydrilla sp. (B) Pinus sp. (C) Oryzasp. (D) Nelumbo sp.

The wings of a bird and wings of an insect are

(A) Amlpguus structure (B) Homologous structure
(C) Vestigial structure (D) Phylogenetic structure

offea ST G4 ASHE GIFI THA
(B) WY A15R
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!

' roid hormone
18 pot o sie o o

N. Which one of the following (©) nsulin
(A) Testosterone (R) Progesterone :
féfs e a0 AN WU 7
fryfefiwefé ral OIS | e 4 )
(A) thehcoTs (B) W CGaE (C) &% e Ll
e ¢ sture 7
9,  Which of the following is mainly associated with the maintenante of F‘“*“;_“ L
(A) Cerebellum (B) Cerebrum (C) Thalamus (1) ons
fryfafireefig reml saume tresi Ruyras s efge 7
(A) DA (B) il (C)  SIeTSTH (D) 1

10,  The complex molecule consisting of a DNA strand and a core of histone octamer 18
(A) Centromere (B) Nucleosome (C) Nucleotide (D) Chromosome

DNA & a3 fRrom Wi -93 ey 7o eite woid o=
(A) Trafum (B) fREfmgrem (C) fsfpebigs (D) TESICNens

11, The most abundant lipid in a cell membrane is

(A) Cholesterol (B) Glycolipid (C) Phospholipid (D) Sterowd
CTewATY ATy (2 18 e a=

(A) TCHBR#H (B) gErafefers (C) warwfafers (D) Towws

2. Which of the following molecules move regularly from the nucleus to the cytoplasm ?
(A) Glycogen (B) RNA (C) DNA (D) Cholesterol
Mo e rar W sfefire FSfu rura Edierers wmfis Ty 2
(A) ECHICOH (B) RNA (C) DNA (D) EFCOT#

13,  The main function of platelets is to
(A) destroy tumour cells (B) produce antibodies

(C)  stop bleeding from cut wounds (D)  kill bacteria by phagocytosis
Webfaara s ey g#

(A) 8 rare faa o (B) wWifFBafs Sevy wa
(C) FOMwS (UE T51E 9% 221 (D) TR w2 2B yesr aan

14, Which one of the tollowing is an example of vitamin ?
(A) Asparticacid  (B) Stearic acid (C) Gl IC ac
: utamicacid (D)
afefeefem 3y rar febfirms Swraae ?
(A) S wnfie (B) Poufys wifis

Ascorbic acid

S S -
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I15.  The acrosome of sperm contains , -

(A) DNA (B) Mitochondna
(C) Fructose (D) Hydrolytic enzymes
SINE WIS Sfee Qs
(A) DNA (B) wEbrasgw
(€C) Pl (D) wdfarws Serme AyE
16.  Which eukaryotic organisms, among the following do pot contain mitochondria ?
(A)  Chara vulgaris (B) Monocercomonoides exilis
(C)  Monoblepharis laevis (D) Marchantia polymorpha
fryfefee ¥arfasla Mol wny ramfirs wdR=ET s 2
(A)  Chara vulgaris (B) Monocercomonaoides exilis
(C)  Monoblepharis laevis (D)  Marchantia polvmorpha

17. In the stomach HCY is secreted by

(A) Zymogen cells (B) Kupffer's cells
(C) Oxyntic cells (D) Mucous cells
LS VRGTF RS Wis v wrg

(A) &I (3 (B) 9134 =
(C) wfEfw rary (D) #re oy

18.  Which chamber of the heart has the thickest muscular wall ?
(A) Right atrium (B) Left atrium (C)
GRS 1o Arad Wi oz rorita e 4

(A) o1 wfery (B) amy wfers

Right ventricle (D) Left ventri

(C) = fery (D) am fery

19, Epmis stored in the liver and muscles as
~ (A) Glycogen (B) Cholesterol

(C) Starch
TR TS e e s zy i
R TR () e (D) @B



od food in human

(D) Small intesting |
(A) Oesophagus  (B) Liver (G35 Yamarees
mmmwmﬂﬁ“mm“m?

D) oW
(A) gt (B) PR {C) R { 1

L4

21. In BCG vaccine, the full form of BCG is
(A) . Bacillus Calmodulin Guanine (B) Bacillus Calmetie Guerin
(C) Bacillus C Insiridium. Gonococei (D)  Bordetella Clostridium Cuenn
BCG Dtz rs1@ BOG -3 #fa9i0 &#
{A) Bacillus Calmodulin Guanine (B) Bacillus Calmette Guenin
(C) Bacillus Clostridium Gonococei (D)  Bordetella Clostridium Guerin

22.  Which of the following plant hormones is responsible for bolting phenotype ?

(A) Cytokinin (B) Auxin (C) Gibberellin (D) IAA
fraffes Bfew zarwmefen reml @fs: rembtRrm o ol -
(A) JRO™ERY (B) wf@W (C) Forsrefom (D) 1AA
23.  Which of the following pigments is found in the skin of human body ?
(A) Anthocyanin (B) Cvanidin (C) Melanin (D) Opsin
Fafefee 2meefem ramfd wmamtes wra sy Y ?
(A) SiAre e (B)  wmufafes (C) t=fag (D) =fHR
24.  What is the type of nucleic acid found in HIV ?
A) ss DNA
(A) (B) ds DNA (C) ssRNA (D) dsRNA
HIV (O (917 42072 81 wifs Bofys e o
(A) ssDNA (B) dsD
) dsDNA (C) ssRNA (D) dsRNA

T —
S
—“_..-_‘_1_
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28, Leaves of which of the following dicotyledonous plants show parallel venation

(A) Mangifera indica {(B) Calomropis procera
(C)  Calophyilum inophyiium (D) Iyora sp.
fFryfafee rem fDerv® SFEmwe wa ogas St o 7
(A) Mangifera indica (B) Culotropis procera
(C)  Calophyllum inophyllum (D) Ixora sp.

If heterozygous offspring is crossed with homozygous recessive parent, then this
phenomenon 1% called

(A) Back cross (B) Test m

(C)  Reciprocal cross (D) Epmistasis <
U rRTOTRIenE oy WeICSTE AW [RICWENR ey spven WA MUY WA ¥ S

| B} WOAIrS @@ oy

' (A) AUrE o (B) 00 &% () whrgam @ (D) aFrofm

27.  Which of the following molecules is glucose ?

(A) C,H,C, (B) CHOH (C) CH,,0, (D) CgH, O
| frafefesofe tanfd grare w2
’ (A) C;H,C, (B) C,H,OH (C) CH,,0, (D) CgH,,04

28. To which part of the chromosome nucleolus is attached ?
(A) Chromomere (B) Telomere

(C)  Primary constriction (D) Secondary constriction
(EFICHICSICNE Tl S RSf@eams sy ez 2

(A) ToTfYe (B) e (C) oefia e (D) TN W

29.  ABO blood group of human was discovered by

(A) Carl Woese (B) Karl Landsteiner (C) Karl Fischer (D) Karl Pearson
FEE ABO blood group -9% SfEsRa arem

(A) Carl Woese (B) Karl Landsteiner (C) Karl Fischer (D) Karl Pearson

30. Example of *Ex-situ’ conservation is
(A) National Park
| (C) Seed bank

I%-FT HTwre SAEa 7w

(B) Reserve forest

(D) Sanctuary
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Life Science
Category-11 (@ 31 to 47) cct. No negative marks)

orr
(Carry 2 marks ench. One or more options are ¢ alocytes ?
¢ is/are known as agran

31, Which of the following white blood cell T;i T:It s

(A) Basophil hocytes
(C)_ Neutrophil (D) Lymphoc % &Y ?
S N AL e DO

G Tk
(A) TACNpw (B) WCAPIEE
(C) e (D) fr=wrIRD
32, Which of these are false fruits ?
(A)  Banana (B) Tomato
(C) Apple (D) Strawberry
ram el T e )
(A) @ (B) O
(C) e (D) =
33. Which of the followings are not present in prokaryotic cell 7
(A) Nucleus (B) Nuclear membrane
(C) Ribosome (D) Nucleoid matenal
MNee rerefl refasie e =12
(A) Efgam (B) fSfag ot
(C) RS (D) Fefgr =

Which of the following statements are not correct ?

(A) ADH is a peptide hormone.
(B) Thyroxine increases the BMR of the body:.

(C) Prolactin helps in digestion,
(D) Somatotropic hormone helps in reproduction.

fafefie Efeefer wre ratmef sfde 7y 2
(A) ADH qaf 018w zaram

(B) @33 A3z BMR 1% a2

(C) A== *5 ary arg

(D) CTIGGR W e ey #ra

35.  Which of the following character(s) is/are present in Z-DNA ?

3.

(A) Left-handed helix B) Formed in h; o
(€) 12 base pairs per turn :D) H{::i: pi:zhh;,ﬂ salinity
Z-DNA T® U 2 2afvity 1 2aFitrefer o »

© aly (B) 355 o795 vty vofd o

O e e () raferes s 344
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I 'types in x Ylem tissue is/are dead ?
(B) Trachese

(D) Xvlem parenchyma
R FEES 97ty / rarvor 7w 9

(B)  Beri Beri
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l‘h}'ﬁirul Science

Cmngnr}--l

41.  Which of the following statements IS true for

H,S 2

(A) Itis a strong base.
— (C) Itis amild acid.
:' H,S-93 T8 53 ta1 SRFB 1y -

(A) a6 qofd =fns =g (B) <t farops
| (C) 9fF 9=fE 37 s

(B)
(D)

It is neutral.

Itisa strong acid.

42. The solubility of common salt in water

at 100 °C is 40. Approximately how mu
common salt is required to make 100 g of Saturated solution at 100 °C ?
(A) 2857g (B) 40 g
(C) 35¢ (D) 20 g
100 °C -9 T Szt wpererg AT 40 FC 8% Twrary | 0 g T H39 (O I -
FEO! A T Pfrarer
(A) 2857 ¢ (B) 40 g
(C) 35¢ (D) 20¢

43. Milkis a

(A) saturated so] ution

(B) SUpersaturated solutjon _
(C) colloid (D) suspension -
T4 G35
(A) I gaq (B) wfSwe g
(C) JIe3w (D) &&gH

4. Sulphuric acid IS:
(A) mono-basic

(B) di-basic
(€)  tri-basic | (D) tetra-basic
Wﬁvmﬁ?ﬁ:
(A) wdy

E | (B) -y



na Parallet ..
Wh;ﬂ 15 o lass lak

[* )]

T = wra
hL. ur.il.l_“:_ “E 0

ARG 15 !
aﬁwazﬂmww T’Wﬂiﬁmmmmﬁwm -
AEFIE 1.5 ZC7 0 -5 31 v hm““‘“ﬁ’f@ﬁlmmw:g};:

i L) 980 (C) 72°
PSS (D) 495°

46. How much heat i i |
IS 1 .
it o steam? (Latent heat of meltg S 5F! 240 °C ino wate and fully cosen
R0 : g Of 1ce, specific h
vapo ) ,» Specific heat of wat ~
porization of water are respectively 80 cal/g, 1 cal/g °C and 5432;:;“(1 et

(A) 72kcal (B) 10 keal
(C) 18 kcal (D) 64 kcal
0 °C SFS AR 100 g I]F oMy 7w apires

| " TS F© AT O oqrmes o
Wﬁq@q’mwﬁmwamﬂwmﬂﬁwsuﬁf
I cal/g °C and 540 cal/g) g

(A) 72 kcal (B) 10 kcal
(C) 18 kcal (D) 64 keal

47. A vessel is filled to the brim by a liquid. It is observed that the vessel always remain
filled to the brim even if it is heated or cooled. What is the coefficient of real expansio

of the liquid if the coefficient of linear expansion of the material of the vessel is ‘a'?

(A) « (B) a2

(C) 2a (D) 3a

aﬁmmmﬁmwﬁWWW|mw,mﬁWWWW
‘u’iﬁ'&iwa?






52, :;nch'mm helps 14 b Ibm::hum * GNM.293,
b ;::::‘: f:li:w ut‘mul-inn B)  The g, S
(RT3 1% w21 <rerg ;::;:“n ) Ahimeqe plt ¥
0y g
(A) ﬁtﬂcawww (B)
(C) REbz vy "S>y D) ng:f@
53. (;GB memory s ﬂPpl‘oxlmately_______ times larger than | MR
) 10 (B) o mr:rnor)
(©) 100 D) >
I MB T333 e | SLXS b b R s
(A) 10 (B) 1000
(©) 100 D) 2
54. LPG used as domestic cooking gas is composed mainly of
(A) propane and butane (B) methane
(C) natural gas (D) acetylene
TR AT (LPG) -9 371 Sofi 2
- (A) s [T (B) fires
(C) =l oy (D) wffbfem

55.  Which of the following is the main component of baking powder ?

(A) NaHCO, (B) NaCoO,
(C) NaCl (D) HCI
M% A 12 CSR Te1 S 2

(A) NaHCO, (B) NaCO,

NaC/ (D) HCI
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Physical Science
) i 56 to 60)
(.H'Eﬂnr}' ll {Q { N“ nenn[i\fﬂ mifk'\]

orrec

(Carry 2 marks each. One or more options are ¢
: ‘ ; ' - . t‘ . [ -
If a ball is released to ground from any heigh i imum and Kinetic energy 1

56.
(A) When it hits the ground, its potential energy !

maximum, ' atant
(B) At any point during its fall the total energy remains d kinetic energy.
(C) At any point during its fall, it has both potential energy an

(D) When it reaches the ground, its potential energy is maximum,

qof> 7 T esel (U A ers e
(A) <D 1A Sfire riears qgrs fHfemfes rdy o ACHPT T |

(B) #OHHIHAR T4 (PICA SIGICA (W10 *Mf& 71 T |
(C) TR T4 TR SR e fgfomar @ oo 72-2 e |

(D) 7= T Bfre Tl WZ0e [{fefEs sdes 2 |

57,

If a cracker thrown ‘\I"Gl'tiﬂﬂ”:'.p' upward bursts into two pieces; one piece flies to right with
an angle 45° to the vertical; the other piece flies to left with the same angle to the vertical

as shown in the figure. This is primarily due to,
(A) Newton's 1* law of motion.
(B) Conservation of momentum.

(C) Acceleration due to gravity.
(D) Sound produced by the cracker.

@l 2ffer et Soaw v FrE §T5 (OIS (I BITH T 9F B Barez v
gﬂﬁwmmmwmﬁmmmwmﬁﬁwmmm
(A) [AEOTT g oo |

(B) ORI Hegwe |

(C) wfeeder waq

(D) fer BT =37 |



ANMR)Y 2.
38. Steam causes more seve ; (R) & GN M-20214
st § ‘h evere burn Injury than boili :
B) st €Ks human body with N t-
eam contaj it
o e 41ns more heat than boiling w
[Cdn] 18 a \-,&pt‘.ur E‘ \'ﬂ".” 'l.l!'- T\;'ﬂ]]l_’-
(D) Steam is '
) am 18 hotter than boiling water

08 wred ey Fon
(oY ™) S
(A) ﬁhwaﬁmm) mﬁ?"’“ﬂ?wﬂ,wq,
(B) 9% “fawm Forw gos wres

(C) PoN = warers am BT S T 1ot e |
(D) ¥5S wTera 5rn PON W & o |

Milsg

59. Which of the following statements are true ?
(A) Liquids and gases have fixed volume but no fixed shape

(B) Solids have fixed volume and shape.
(C) Solids never diffuse in each other.
(D) Gases do not have any fixed shape.

e e W SfeefE e o
(A) SFF 8 M T WS U 53 (3 e wgfe a1

(B) <3 omndz Hf3a wrwew ¢ WFfe < |
(C) <7 amidefers Jy FCAR A1 1 fROwert T )
(D) P *MIdH (I o i 72 |

60. When a balloon is blown with air and its mouth is tied,
(A) All air molecules inside become fixed in their positions.

(B) There will be empty spaces between those air molecules.
(C) Those air molecules keep moving randomly and often hit the balloon surface from

inside.
(D) The air inside becomes solid.

«afD e e fary e 14 T3 e

(A) Rywrag ST Aruay wepefe fer fer Srg SHe 20T |

(B) & Ay weYefer WS WAF et WA AE W |

(©) ammﬁwﬁwwmﬁmmewwmmm
WENS FACS AT |
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English
Category-1 (Q 61 to 75) oty
(Carry I mark each. Only one option is correct. Negative marks: — )
6l

- +  Choose the word, which can most a
f sentence —

A person can be sentenced to death for killing another human being.
r' (A) patricide (B) homicide

ppropriately replace the italicized words iy, the

I} (C)  genocide (D) fratricide
| T

Il 62.  Choose the most effective word to fill in the blank to make the sentence meaningful),
] complete, A

,‘ Some people themselves into believing that they are indispensable to 1},
: organization they work for.

(A) force (B) delude (C) keep (D) ask
63. Choose the most effective word to fil] in the blank to make the sentence meaningfullj,
complete,

His

ents had very few questions to raise,
(A) exposition (B) clarity (C) disposing (D) exposure
g 64.  Choose the most effective word to 1] in the blank to make the sentence meaningful],
complete,
Th !
pmggz r;fm have wel] their transition from village life to city life have
(A)  managed (B) taken (C) tried (D) finalised
65.  Choose the most effective word fill
M, In the blank o make the sentence Mmeaningfully
This js thea¥™ i chosen for the school to come up
A) sit :
(A) site (B)  sight (C) plot

from the o tion
S in the given geny Plions given below ¢o fill in the
Sonlals “nce in the same order to make the sentence meaningfully
The Impos
lmpmm for N0n-payment was too —__ for it ¢ bring in any
(A) penaj ]
( i (B)  toll, simpje
) punishmeng po
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67. Choose the most dppropriate pair of words fi

. : : Tom the 1
blanks in the 8lven sentence in the Same order i
complete, 0

'Ven below o fil
Make the SCntence Mean !',[1:1]'
We are to have him here t¢ (€ this fiines: N
(A) le’er N :E]U I::Z;;:'h;:unf“"'ﬂ * Breat sucgeg;
(C) proud, leaye (D) sorry, :m'::r
68. Fill in the blank with the most ap ' ‘ord/grc '
Propriate word, ‘O ,
meaningfully complete, - EUDIOF words 1o Make the Sentence
We should not be indifferent the sufferings of our fellow men.
(A) of (B) to (C)  from (D) a
69. Choose the word which has nearly the same meaning as OBLIGATORY
(A)  Agreeable (B)  Required
(C) Stubbormn . (D)  Useful
70.  Choose the word, which has nearly the same mean; ng as EXUDE
(A)  Drop

(B) 0Ooze
(C) Overflow (D)  Evaporate
71.  Choose the word, which

IS opposite in meaning to IMPOUND.
(A)  Compound ' (B) Generate
(C) Dollar (D) Release
72.  Choose the word, which is opposite in meaning to CHIDE.
(A) Request _ (B) Criticise
(C) Advocate | (D) Praise

at has either nearly the same meaning or opposite meaning to
EXONERATE.
(A) Escalate (B) Admit
(C) Accuse (D) Reject
74.  Choose the word that can replace both the words in italics in the two given sentences.

L The management did not find him suitable for the job of a clerk.

[I.  Akash could not arrange all parts of the machine properly.

(A) fit (B) employ

(C) finish (D) adjust

75.  Observe the two italicized words in the following two sentences and give your
observation by choosing any one option below.
L

I'am indebted to my friend’s wise councel.

- Some members of the counsil walked out of the meeting.
(A)  Only sentence. is correct.

~ (B) Only sentence-I1 is correct.

(] __Bothsentencesland II are correct. . S
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Mathematics
Category-1 (Q 76 to 85)
k each. Only one option is correc i ST
fill water in a tank at 2 100 liters per hi_uur. Thjﬂ l‘{ﬂwﬂf:rﬂily ours does it ta,,
h 7 m. breadth § m and height 30 decim :
(B) 50 hours
(D) 500 hours

{. Negative marks: —14)

(Carry 1 mar

76. A pump can
to fill a reservoir at lengl
(A) 5 hours
(C) 60 hours

77. A and B are two solid spheres. The total surface area of B is 4 times of total surface are,

of A. Then the ratio of the volume of A and B is

(A) 1:4 (B) 4:1

(C) 18 (D) 8:1

A 8 B #ft a6 0F® | B -99 RIS THFAPH A -7 FALOEH TRAFCTR 4 &9
BRRIE A 8 B ¥ SHEET WS I B9 7

(A) 14 (B) 4:1

(C) 1:8 (D) 8:1

78. The ratio of the height and transverse height of a cylindrical cone is 4:5, then the ratio of
the transverse height and the radius of the base is

(A) 5:3 (B) "~ 3:5
(C) 7:5 () °35:7
Ff> TG 1FF Tovel ¢ fSfw TvOr WenS 4:5 T @ g7 fka Tovw ¢ B
TAEE TS TS T(Q ? |
(A) 5:3 | (B) 3:5
€) 75 (D) 5:7
79.  The square root of the product of two roots of the quadratic equation x> — 6x + 4 = () is
(A) 2 (B) 4
(C) 16 (D) 3+4[5
H-ﬁx+4=oﬁwwﬂrwmﬂwBﬁnwma’TﬁW?
(A) 2 (B) 4
(C) 16 (D) 3+4f5

80. If the difference between tw
Then the equation is

(A) xX’-5x+4=0
(CJ .rz—Sx_4=0 (B) xz"'3.‘.|:+4=0

(D) ¥®-3x-4=0
wﬁawmmmqﬁﬂmm3aww4wwwm
(A) r-5c+4=0 (B) *?-3x+4=0
e e, ) 2 g | (D) x2-3x-4=0

0 roots of a quadratic equation is 3 and the constant term is



(D) 6
83.

Find simple interest on Rs,
(A) Rs. 36

2005 3Mte7a S g
(A) 36 Bra

3000 at 6% per ann
(B) Rs. 48
CT 26 T #1438 21fifar 40,

(B) 48 Bra

um from |+ January to 26 Ma

(C) Rs. 60 (D) R

T 3R =R 3000 Brag 5

(C) 60 Bra (D) 7

84. Ramesh Babu sold g ¢ d incurred a Joss of 25%. If he W
make a profit of 169 gher price, he should have sold the
(A) Rs. 164

(B) Rs. 173
(C) Rs. 185 (D) Rs. 187

lock at Rs. 300 an
then at how much hi

mmwwﬁmﬂﬁmw
(A) 164 Bram (B) 173 Brav
(C) 185 Bra (D) 187 Bram

ges 4 cm are placed side by side to form a rectangular cube.

length of the diagonal of this larger rectangular cube ?

(A) 43 em
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General l(nu_wledp,c

. Cntcgnry-l (Q 86 1o 95)
(Carry 1 mark ¢ach. Only ope nptfug

is correct, Negative marks: ~5)
86. Naval Statt'in g submarine “in see objects at the surface of water with a
(A) Stethoscope (B)  Periscope (C) Kaleidoscope (D) Telescope
’”““"WWWWH@M o1y CaTba a7
(A) TBreCHs (B) T (C) IMARETH (D) oo
87. Which of the following musical instruments s played by Amjad Ali Khan ?
(A) Veena (B) Tabla (C) Sarod (D) Sitar
RUCERC TR e — 1fE W+ arens 7
(A) Qe (B) &3 (C) W (D) TreR
88. The hottest planet in the solar system ?
(A)  Mercury (B) Venus (C) Mars (D) Jupiter
Cierres Swey arag ay f 2
(A) 3¢ (B) ©@ (C) Ww# (D) I~
89. Exposure to sunlight helps a person improve his health because

(A) resistance power Increases,
(B) the infrared light kills bacteria in the body.

(C) the ultraviolet rays convert skin oil into Vitamin - D.
(D) the pigment cells in the skin get stimulat

_ ed and produce a healthy tan,
(A) ' afSrars =wxer ey |

(B) Wmﬁmmmml
(C) w%@eﬂraﬁwmwﬁﬂlﬁw-ﬁwmﬁgﬂm

90.  Fire temple is the place of wo

rship of which of the following religion ?
(A) Buddhism. (B) Shintoism
(C)  Christianism. (D) Zoroastrianism (Parsi Religion).
(Fire temple) T 472 Wreg Bommy Vel
(A) % &f |

S (B) ficedr uf
(C) | T 4
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The Uniteg Nationg Organizatiop, has ji ”del[ll‘u‘tur ,
(A) Delh; (B) London (C)
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92.  The ‘Lady wiy, the Lamp’ wag the name given to ?
(A)  Sister Nivedita (B)  Queen Elizabeth,
(C) =g lorence Nightingale (D)  Princess Diang
*mf%@tﬂnﬂm T FCF STt 7 9
(A)  Prér firafier (B) 737 ofermay
©) Tt T8 Beprer (D) T Gy
93.  “The Great Barrier” Reef is in Which country 9
(A) China (B) Australia (C) Ireland (D) Singapore
TG R e e e w3fEs ¢
(A) B (B) wrhfem

(B) Scurvy (C)  Pneumonia (D)  Asthma
#mmmmwmwmmwr
(A) T (B) &

(C) FSrafagt (D) Srers!

95.  Which of the following is the largest air pollutant ?

id
(A)  Carbon dioxide (B) Carbon monoxide

drocarbons
(C)  Sulphur dioxide (D) Hy

_ %mwwr
mmmmw (B) T WAHZE






